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EBREEy = 2 — 20+ 3T (BH) y= (¢ — h)> + kR, M =(2), = (3).
sy = 2° — 2z — 352D %x?ABﬁE nABtEER_(4)
BIEyY = 20° + ¢ + INEIGEATB2 M a0, BELFB3N AR, PSSR SR
=. (5) A2
{Bi%a > 0, Ha® = 3,a¥ = 5,Ma2*v = (6)
= log, 10 — log, 3, M2magEe_ (1)
RS (—1. )fEy = az®+ 2L, Ma=_(8)
log, 12 —log,3=_ (9) |
siEARE_(10) mrame (1)
10 258 =_(12) gi—_ (13)  /B-m2=_14) (REFWLNIE)
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2. 1BtEa =logy;3,b = 0.5, c = (5) "MK/,  (ATLAFIFdesmosTER)

3. DMLY — az? + ba + AT A(-1,8), B(3,0),C(0,3)=A.
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4. BUTOMERBOBNR: y1 = 2,92 = 2%,y3 = logy z,ys = 2%,y = zlog, z,
(1) BitE Y2 = 2,6, 10A9AHE, HATRED IR S
(2) WNR2A91E 100000008, BELEB Y1, v2, y3, y4 BIERIK/N?

Mg, ZE>

L BEETRRHyY = 2(z - 3)% + INRHER

(B FIETHRQIREL, B8RER-EL=TTR)

2. BER—MERERNER Y = 2,y = 22 — 4,y = 2%y = log, MBI,

(fm: AIETHRQIREL, B8RER-EL=TTR)
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